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Introduction
In [1] RAN2 requests RAN1 to consider adding to RAN1 specifications the mapping between the T_delta index provided via MAC-CE and the actual value of T_delta. This contribution provides a proposed TP for 38.213 to address this request.
Discussion
The index value for T_delta is provided via MAC-CE as described in section 6.1.3.21 of TS 38.321, where it is referred as timing delta and it is defined as Tdelta with a range of (0, 1, 2, …, 1199).
RAN4 has defined the range of T_delta in [2] as:
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RAN4 has also defined the granularity of T_delta as 64·Tc for FR1 and 32·Tc for FR2.
In [1] there is also a request to validate that the range chosen for Tdelta in TS 38.321 is adequate. Looking at Table 1, the largest interval of values corresponds to the entry for SCS = 15 KHz, and it is given by 70528 + 6256 + 1 = 76785. Given the 64·Tc resolution for this SCS, the number of values is ceiling( 76785 / 64) = 1200, which matches the specification in TS 38.32.
Observation 1:
The range for the index value of T_delta signalled via MAC-CE is adequate to meet the range requirements defined by RAN4 in [2].
It is proposed to capture in 38.213 the mapping between the index Tdelta provided via MAC-CE and the value Tdelta in a way to ensure the RAN4 range requirements are met. 
Proposal 1:
Adopt the following TP for section 14 of 38.213:
	<Unchanged text is omitted>
An IAB-node can be provided with a value Tdelta obtained from the timing delta Tdelta [11, TS 38.321] by index values of Tdelta = 0, 1, 2, …, 1199, as Tdelta = min( Tdelta-min + Tdelta·Tdelta-step , Tdelta-max) where Tdelta-step is 64·Tc for FR1 and 32·Tc for FR2, Tdelta-min and Tdelta-max are provided in Table 14.2 as a function of the SCS of the PDSCH providing Tdelta, and NTA, offset is obtained as per Clause 4.2.
Table 14.2: Tdelta-min and Tdelta-max values
	SCS
	Tdelta-min
	Tdelta-max

	15 KHz
	-70528 – NTA, offset / 2
	– NTA, offset / 2 + 6256

	30 KHz
	-35328 – NTA, offset / 2
	– NTA, offset / 2 + 6128

	60 KHz
	-17664 – NTA, offset / 2
	– NTA, offset / 2 + 6032

	120 KHz
	-8816 – NTA, offset / 2
	– NTA, offset / 2 + 6032


<Unchanged text is omitted>
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This contribution provided a response to the request in [1]. More specifically the following observations and proposals were made:
Observation 1:
The range for the index value of T_delta signalled via MAC-CE is adequate to meet the range requirements defined by RAN4 in [2].
Proposal 1:
Adopt the following TP for section 14 of 38.213:
	<Unchanged text is omitted>
An IAB-node can be provided with a value Tdelta obtained from the timing delta Tdelta [11, TS 38.321] by index values of Tdelta = 0, 1, 2, …, 1199, as Tdelta = min( Tdelta-min + Tdelta·Tdelta-step , Tdelta-max) where Tdelta-step is 64·Tc for FR1 and 32·Tc for FR2, Tdelta-min and Tdelta-max are provided in Table 14.2 as a function of the SCS of the PDSCH providing Tdelta, and NTA, offset is obtained as per Clause 4.2.
Table 14.2: Tdelta-min and Tdelta-max values
	SCS
	Tdelta-min
	Tdelta-max

	15 KHz
	-70528 – NTA, offset / 2
	– NTA, offset / 2 + 6256

	30 KHz
	-35328 – NTA, offset / 2
	– NTA, offset / 2 + 6128

	60 KHz
	-17664 – NTA, offset / 2
	– NTA, offset / 2 + 6032

	120 KHz
	-8816 – NTA, offset / 2
	– NTA, offset / 2 + 6032


<Unchanged text is omitted>
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